RSP/ NVERAESY 1 5 L E D BRBAERE & B

it LA 14

sxmiceoT, [ creshrmmEasRnoRgs e 5



(470 JC 4EJE)

i 7% o> Bl {4

[~

.
o

- (BB
i ry
. N &
m 5| w5214

— (&

S

KRR

0101

AT

# W

@ Hev bl
®@r w & w
®mr m o own

C) — M it &

i

:

o
R

pui

GE:

W
o

O R B
T

#
i
»

& LAk o
TE®
I
frE

@ vz v
@ =m. a@mm
1 57 MU A
@ #r7=
(DEESY
® i

kA

(Eic kM Z 7R )

rRE

HHBER
© &= sz BRE
R3-4141 ks-695
—— -
e B
JSvaa4E
L‘ SE2E
EHLFH

I\

RE 5837m

®-2
BI-14
®-
" B1-20
RI-737 R _
[
|
‘ O g9
| = ?}
‘ 2513 e
| A
@ emuam ‘
RI-12 !
N s s | J
B E g 400
Bx Bx

g

:
8. on

1D,



W ” ] T T G T
i 2 o i 0 600 *5? . E | | | | | | E3
il T AESE) pEee e 5| wmmasr [7]214]21002]0110011 (8] 101
(=
1 ISE 73.47 18.20
5.69 4.40 2.352.35 5.75 3.717 8.4 7.54 8.38 8.10 8.10 8.38 9.20 1.75 4.40
2.85
RN ok { | o]
2.42 @ 2R
. m OF 2] Fne | e o
. - YN ] 2.50 1
o it b b S IPS A FANTEN mgms | awz | eme 8| _ Iilin 2
= RBE (2) _|E& — - —WC[ (HLDAE) B3 sl 2 BE — s
: i H s s ; = _ 1=
i 0AZ S @ g = B s
E 2| s SUBT . e
< " _ / 3 o
& - 8
. e ; o <
e welpss I mirx | wasz | EE4E | BAxE
= BHETH
| fKO ]
’ 434 ’ 4.05 ‘ 16.20 ‘ 16.50 ’ 7.80 ’ 8.10 ’ 8.10 ‘ 8.38 ’ 447 ’
3.31 ‘ 10. 49 4.40
. 3 hvi | (VAN 77 18.20
I FRE D EH L BRALED LIS 2 4
0.23 7.26 2.15 7.74
0./85
®I b ‘& | 20,88
o = =Y 4u| o
<« We i <« 3.44 4.19 5.62 7.63
c - L ®
<) F
g REEME %m : -
= 8 F-ic < i
s HIT255 (- < | W |2EE| % | P | 8 e Ll s
e s = rex B s 2
o W-Ez 2
Ll € M-We =
% ; =8 Ag 3.36
7.50 12.50‘ 1 6.03 @ = « 5 = s os ® Y= fREE 69
1.70 & =
17.73 JHELS 179nf
@) ruam
i O
= O =
6.00 ]
mE 27—y | mit e M
~ .



014084
Rectangle

014084
Rectangle

014084
Rectangle

014084
Rectangle

014084
Text Box
・赤塗の部分は照明LED化対象外
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Area Measurement
2,552.8 sq m
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014084
Area Measurement
2.71 sq m

014084
Area Measurement
3.1 sq m

014084
Area Measurement
24,119.76 sq m
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014084
Area Measurement
24,195.66 sq m

014084
Area Measurement
24,755.1 sq m


(4% JCAESE)

s & 0 i [

i %00
9 5
T

Lo
T

15
T

20

Rk

OB PN

e

(HBIE R %)
T

(AT )

I(? I&) T

214

21012

0111314

R ERE

130

3F

10. 00

<
=
s| 8
9.00 |5 402 | 9.00 900 |as0o| a0 | o 9000 | as0|aso| 900 |40 [360] o
11.50 94.60
1.85 4.95 054 1154, 03°
0=71.02°
| 2 dp )8 |
C © ~
| ; ) 1/300|
2444 0.36 G 185 495 185 ¢
@ | i g
- @ 3 il
o2 BT |

= 8|

8 Ty <
, 2 %g . g |& 7
i SRE fERT e g HEEE A

[ 4.00 | 4.71 | 13.50 [2.59) °
24.80 s 4.45
47 | 13.50 | 450 | 450 3.2 17.50 4.9
21.21 %.73



014084
Area Measurement
24,719.87 sq m

014084
Area Measurement
24,184.81 sq m
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014084
Area Measurement
0.82 sq m
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014084
Area Measurement
1,118.96 sq m
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014084
Area Measurement
2,743.29 sq m
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014084
Area Measurement
0.76 sq m
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014084
Area Measurement
7,533.05 sq m
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